%KZDH
L:

/ 0) 3":‘ Q(’ul' SLZ)?-- 4"_4"

xX=-tr2 P;;uH@_E‘(.Sm’(" a0 ; .—% = —f ) b: [o a

2o I E —(po S 5;150
Soiib=loa BN %‘1{;,% e
(r)| St tHTnls— Cht 4 0 222 Vo3 274
2+ 34| |2l +
67 2(  loy
SS4YAzaizl Al 1y (1 L2 &y 2 AV T~
L g e
S
61 logie = log oo = g3 = bputo = 2lgot = 1= 2Chsu2elign2) =1 = 2log,2 + Aapi3- )

6
logue (8" = €€ Calppu2 e 2lagn3 1) = €L (060204095421 ) = 7062

B« 7 G s
- R ? IS & 2 N . k2
) 13?a+¥=1 =@l ¢ 2Bab+ B =9+ 28T« =13 e
__ &b ool l e
T T e B e e -
o 3 ER )
c-§=(a+Eﬁ)-§=—2J‘;+§,1£;o R zi—g= 3
() 22+ <3xe2 KA 3 FEM B3t (amsa:;é-e%czzma?)
gL -
2041 < 4x-3<32+v2 & 2<x< ¥ 3l el

e _%(Z)I-HJ\-?"&-\-Z s hm3) =3z KBS BRus

2 8 = !
Si= lf (Mi—t-?z) + (?JU—Z —32)24' [41"3"?1) } e,

3
2+ 2-[-4. E-&3 +_q) = il 2 212—}:( + 14
[—2a+2 + 5 2 ..93(_1_1({. = !

f(:—:«)l S (1_3)2%

(4
=



(b AB=lovc2 AC=2 3C=J3
MEB o BiFio s« 3« = —r;

(1%
C i hifA 355t F e
B \E}
Fle Jr2el | B e _I3-|
2 2 33
(2) Cos T3 = o (4% 3:°) = tas4em 3’ - sndiisicd = - 2
+
JE"" 2 Jta ?j" -\-J_
st L LTS | Tegrs 2L o
(#) 7
AD = J3
EC = Xta TP = (m A
PE = 22

bc=2a + (2+J32x = (4+I8)=

AC= 3x+be = G+2]3 )2
= Zacs (2B = 3

& 2 3(=B-2)
ST 12-9 =2z-3

AE : EC = /’tD-\-DE : EC = (Q-F.FS)J\ :(11__]——3))( == |

A%Cmﬁ)fﬁlg BC=3EHS —;«3 < \]—%x} = 3B

=
A ABE = —-A_—E—-— ,c’.?_]_? = -3——3;
AE+rgc 2 4



() On=2n-1 &S
Qan—y = 2(2\’\—()-—1 =4m—3 A Q;_n=2-2n—-\=<n_[

ls
ZC\E = Ik l? xlo = IQQ
k=1
2!
[° 2 [ 4 Sy
ZGE = (2%.-—1 = 4 Za = z 4R+l) Txlox([,,Z] — xlo = [1(40 00
Ry R et e ;;)

tls 1 1o l
v (. ‘
B=1 OoRey 0gp gx (4R-3) 4R+ 1) ~ i (43—3 4R+l ) 5

L (A S Al () 3ok

@) ir E@-l njzé I8 214+ + 2n = h[n-t'()IéE'.
In E&

@ o~ 703 Ma)in sl = niong |
Optaennl = 2h —2h+2 -] = 2n -2n ¢ |
=lo AL, 2 b B2 xrnl = los —2e~ | = [B]
A B8 11z 2084 T KXot DM, 252,
\1 + [81+ 2e(]

> xls = 4°°°

2022 € M(hx() TEETw alek 15 n=4E
A 4bea o kinatbi 455 474 =88 IHAT A5 2022-19214( =42
Qao2z 12 A 4SF@ » £2 7h §

1334



v 3((.\)-—1;—@12+‘31—2

 §00 = Ianeg = 3 T4x+3)= 3k -0 (- 3) /\J/

~

=\ §RAQ ;CL\)= =6+ 9-1 =|2 =)

x=37 A j[kel= 2 —t4 4272 = -2

6) $W)=31"-02+9-8 thinig L-b=o ILAS x =b.L
A =0y fr»)-——z Gops j= ¢x =12
=4 he = T4 = 64 - 94e34-2=2 ' S _L]=§(R-<)*z= gasse
Mot m 3 Caltafo2 b g Gl o 1oL, ?”«%ia Il JC(’?)= -

=

5(2)=8-—l4+l9"2 =0 2" j:—-g(l_z)_‘_o ———311—{

®) ]

f(—g"’f(—;((a))alx

0

NS

2.

5 L LA RS

2

= [ ._—‘(;141- 2)(3— 6171-91]0

S-fs(k-24+16 =4



